AW

i i B bR

EEBEIR

2025.5~

(14 : 00~)
(24916 : 00FT)

220 [FE052) 9:00~12:00 [F#52] 15:00~17:00 [®R:Z] 17 :00~19 : O0(Z#&T18 : 30
8 A W 7K X Erd T
Dok FH—806
N & 2o . (82-4) .
e A BN e P 1SR Hi—g5 P Al EA AW EA
Bkl -
(#1-3+5)
D D K EA DI DB
-~ mA s * 85
7 i A R 24 S 4
&) 0
KB AL PR AW E KW EA AW IE AW EA
e 2
B85 f— R fryT
BE 2 Eﬁv #e— ) Bas #— AW =
%) = 1B4E @ () B9 fi— BES B 3 B0 5
B 5 ecp= [E) @88 £1) Eme
(BHMAE1) BE S B B (#23:4+5) BE 2
(2+3+4:5) (FHA %1)
(#2+3:4-5)
I B e
BB &8 INFK B35 FFBF e %3 185 6= ik & ik ven w2
) w1 86 16—
eI
. oo s RE [ KB Bl 4
& B b 88 R B 5%3;3% B A SE A TR i SE A AE FFL
=) 7 ) 2 & EBH B EBE B Kis Z=—8B #SH BE
u p S Kb ERTF SHE/ B4
2 BERE AR %4_’_ 1vg3 BIF0 1083 BIFD 1083 BIFD {JE?% s
REM N 184 %j%%’%%& - REe
TG (©:30~) fREM H1S
. w BYE o . =
BIOR HEEES %1-3+5 (9:30~) (ggﬁ:'%;@ B3 BREX
STI5 89 $2-4 PH M
g 5 i B 2l BsE — —
EE : %2-4 =K BR
- (BHEIE)
® B o4 B/ RSN 5 SREHN Y615 RS F6iE
B B #® AHB B AB B AHB B AB B AHB B
e JUNNNUN n = ” . 13- 5 THis JZ
woORR 88 B BR Bt B3 ARER No#m B35 g #E15 AT BR w4 1T §;§
= S o= FNB = &
B A R B Hl = m = =S Jns
B8R B 758 8 73 [E8 73 [E8 75 8 758 [E8
E & R E R BRHIBD | BROBD Bz o B 51
) s B
Bt N $2 -4 (FHD
HWEZEM - BEARF | B@ ME 182
518 ik (141 00~16 : 00) (14:00~16 : 00) (15:00~17 : 00)
RIS fi—
- R=ZA—N—R (P4 (%EEE i1
St 1500~ [ [CEEIEAD)
17:00 g%a ;ﬁ) (B2:5-4:5) R A
(B2:54:5) =916+ 30£T)
(24916 : 30&FT)
E T3 K 1400~ 16:00 52-3-4-5) BE 2
BB 88 & 1400~ 16:00 I\ R [Eal Y =1 ZRBF
0705 88 & 1300~ 16:00 Kig T=—8B
B RB I?g;ii 14:00 ~ BEE e
BABE
¥ i
B Ry
& i = nEE o000 15 B
=2 EBIIR oo~ P - P o7 00 $2 -4 K BF
2 TR e v | @it | TEBE | GQNS | G1L% | Gsi0Tio
(14 : 00~17 : 00)
(2f116 : 00FT)
hig &

FEREBAREINE 14:00~1600

B0 F0RF

B0 FRF

BH FRF

1% AR} HEHRIAE 1330~15:30 | & )l & Il &8 )l &
W e K« BEARDBEH D (FH) (FH9) (FH#) (FH9)
R ® 1500~17:30 7o EH o8 5 FEH EE
HIREM 13 : 00~ . s s \ %
el e BRNBD | BROBD Pocis Rt
B %9 42 A9 R 1400 ~ s By
16:00 $2+4 (FH)
B R 2N =
] ) N " 5 1.3+ 6 TR 2
BeAX- % 1;588:12588 R Bt Wi 513 AR SR :2.4 21 §;
SISE2 TR 5@ By 184E B0 RT JERTES 1BE
" B B A AR 2 L W 32 I B
LiE 8= SREAN IS
E- g 0 N hodE BB ok B %214
10 B x—Ig
B & 5 B BEM HiE
g B B A 2 A B A B A B A B
EEYE] A 5= I 2542

W R 3 B

B ARG




